HasBa komaHau

[logscHeHHA

Crioci6

int() [[iJIOYMCJIOBUHN THUI
_ a = int(input(“BeefiTh nepuie
input() BBe/leHHS qucno: ”))
iHdopmarii
print() BUBEJIeHHS Ha print(‘cyma uucen =, s)

eKpaH

+ JoJaBaHHS s=a+b (a=2; b=3; s=5)
- BilHIMaHHS r=b-a (a=5; b=3; r=2)
* MHO>XeHHS d=a*b (a=4; b=2 d=8)
/ JliJIeHHS c=a/b (a=10; b=5c=2)
Rk

MiHeCeHHs 10
CTelneHs

b=a**3 (b=2; a=8)

//

1liJ1a YaCTHUHA BiJ
JlJIeHHS

c=b//2 (b=13; c=6)

%

ocTayva BiJ [iJieHHS

a=k%6 (k=19 a=1)

Ha3Ba komaHu

[TodcHeHHA

Croci6

int() I[iJIOUMCJIOBUHN THUII
_ a = int(input(“BBepniTh nepiue
input() BBe/IeHHS quco: ”))
iHpopmauii
print() BUBE/IEHHS Ha print(‘cyma uucen =, s)
eKpaH
+ JI0JlaBaHHA s=a+b (a=2; b=3; s=5)
- BijHIMaHHS r=b-a (a=5; b=3; r=2)
* MHO>K€eHHS d=a*b (a=4; b=2 d=8)
/ JliJIeHHS c=a/b (a=10; b=5c=2)
ok niJHEeCeHHs [0 b=a**3 (b=2; a=8)
CTelneHs
// 1iJla YaCcTHHA BiJ c=b//2 (b=13; c=6)

JlJIeHHS




% octaua Big ainenHs |a=k%6 (k=19 a=1)
HasBa komaH 1 [TossicHeHHS Cnoci6o
int() [[IJIOYMCJIIOBUHN THUII
_ a = int(input(“BBepniTh nepiue
input() BBe/IeHHS quco: ”))
iHpopMarii
print() BUBeJIeHHS Ha print(‘cyma yucen =, s)
eKpaH
+ JIoJlaBaHHA s=a+b (a=2; b=3; s=5)
- BilHiIMaHHS r=b-a (a=5; b=3; r=2)
* MHO>KeHHS d=a*b (a=4; b=2 d=8)
/ JliJIeHHSA c=a/b (a=10; b=5c=2)
ok niiHeCeHHs [0 b=a**3 (b=2; a=8)
CTemneHs
// 1iJla YaCTHHA BiJ c=b//2 (b=13; c=6)
JlJIeHHS
% octaua Bifg aineHHs |a=k%6 (k=19 a=1)

Ha3Ba komaHaHu IlossicHeHHs Cnoci6
int() L[IJIOYMCIIOBUH THUII
_ a = int(input(“BBeniTb nepiue
input() BBe/leHHS qucno: ”))
iHbopmarii
print() BUBEeJIeHHS Ha print(‘cyma uucen =, s)
eKpaH
+ JoJaBaHHS s=a+b (a=2; b=3; s=5)
- BiHIMaHHA r=b-a (a=5; b=3; r=2)
* MHO>XeHHS d=a*b (a=4; b=2 d=8)
/ JliJIeHHSA c=a/b (a=10; b=5 c=2)
ok niiHeCeHHs /10 b=a**3 (b=2; a=8)
CTeneHs
// 1iJia YyacTHHA Bij c=b//2 (b=13; c=6)

JlJIeHHSs




%

ocTayva BiJ [iJIeHHS

a=k%6 (k=19 a=1)




